Algebra 0507
Chapter 5
WS #5

Use the graphing calculator to complete the table and find the x and y intercept.

Graph the points.

1. 2x+y=4 X 2. 3x+y=3
-2 x-intercept:
x-intercept: 2]
y-intercept:
y-intercept: 1
1o 10
8t i
6F °
At M
2t [
AT BTETATHTT 8 -10 8 6 -4 -2 |
ol T
4t Al
6+ BT
8t 8r
ol -10b
3 y:—l—lx X 4, y=-6+3x
3 -6
X-intercept: 3 x-intercept:
y-intercept: 6 y-intercept:
100
10y sl
8: 6:
6: 4:
4: 2:
R _

10 8 6 -4 -2

1 1 1 1
o o b N

-10

210 -8 6 -4 -2

IS

-10




5. y =4+4x X 6. y:§x+3 X
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7. y=3-2x X 8. y=-5+2x X
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x-intercept: 5 x-intercept: 2
y-ntercept: 4 y-intercept: 5
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